ITB No. 16-100767 Rental of Uniforms Public Works -Sanitation Dept.

Line			Bidder: Aramark Uniform & Career Apparel, LLC	
Item	Description	Estimated Number of Units	Unit Price	Extended Price
1	High Visibility Safety Short Sleeve Shirt - Pocketed Birdseye Reflective Shirt, Sizes: Small – X-Large	1,800	0.54	972.00
2	High Visibility Safety Short Sleeve Shirt - Pocketed Birdseye Reflective Shirt, Sizes: 2X-Large – 3X-Large	3,000	0.54	1,620.00
3	High Visibility Safety Short Sleeve Shirt - Pocketed Birdseye Reflective Shirt, Sizes: 4X-Large – 6X-Large	2,000	0.54	1,080.00
4	High Visibility Safety Long Sleeve Shirt - Birdseye with Comfort Trim by 3M, Sizes: Small – X-Large	1,800	0.70	1,260.00
5	High Visibility Safety Long Sleeve Shirt - Birdseye with Comfort Trim by 3M, Sizes: 2X-Large – 3X-Large	3,000	0.70	2,100.00
6	High Visibility Safety Long Sleeve Shirt - Birdseye with Comfort Trim by 3M, Sizes: 4X-Large – 6X-Large	2,000	0.70	1,400.00
7	Insulated Twill Coverall w/Reflective Strips, Sizes: Small-X-Large	400	2.00	800.00
8	Insulated Twill Coverall w/Reflective Strips, Sizes: 2X-Large - 3X-Large	800	2.00	1,600.00
9	Insulated Twill Coverall w/Reflective Strips, Sizes: 4X-Large - 6X-Large	400	2.00	800.00
10	Non-Insulated Twill Coverall w/Reflective Strips, Sizes: Small-X-Large	400	0.98	392.00

		Ī		
11	Non-Insulated Twill Coverall w/Reflective Strips, Sizes: 2X-Large - 3X-Large	800	0.98	784.00
12	Non-Insulated Twill Coverall w/Reflective Strips, Sizes: 4X-Large - 6X-Large	400	0.98	392.00
13	Perma-Lined Panel Jacket w/Reflective Strips, Sizes: Small – X-Large	400	0.64	256.00
14	Perma-Lined Panel Jacket w/Reflective Strips, Sizes: 2X-Large – 3X-Large	600	0.64	384.00
15	Perma-Lined Panel Jacket w/Reflective Strips, Sizes: 4X-Large – 6X-Large	400	0.64	256.00
16	Men's Image Knit Polo Short Sleeve Shirts, Sizes: Small – X-Large	400	0.25	100.00
17	Men's Image Knit Polo Short Sleeve Shirts, Sizes: 2X-Large – 3X-Large	600	0.25	150.00
18	Men's Image Knit Polo Short Sleeve Shirts, Sizes: 4X-Large – 6X-Large	400	0.25	100.00
19	Men's Snag Resistant Polo Short Sleeve Shirts, Sizes: Small – X-Large	400	0.22	88.00

20	Men's Snag Resistant Polo Short Sleeve Shirts, Sizes: 2X-Large – 3X-Large	600	0.22	132.00
21	Men's Snag Resistant Polo Short Sleeve Shirts, Sizes: Sizes: 4X-Large – 6X-Large	400	0.22	88.00
22	Men's ProKnit NG Multi-Colored Short Sleeve Shirts, Sizes: Small – X-Large	400	0.22	88.00
23	Men's ProKnit NG Multi-Colored Short Sleeve Shirts, Sizes: 2X-Large – 3X-Large	600	0.22	132.00
24	Men's ProKnit NG Multi-Colored Short Sleeve Shirts, Sizes 4X - Large – 6X-Large	400	0.22	88.00
25	Men's Button Down 100% Cotton Short Sleeve Work Shirts, Sizes: Small – X-Large	400	0.20	80.00
26	Men's Button Down 100% Cotton Short Sleeve Work Shirts, Sizes: 2X-Large – 3X-Large	600	0.20	120.00
27	Men's Button Down 100% Cotton Short Sleeve Work Shirts, Sizes: 4X-Large – 6X-Large	400	0.20	80.00
28	Men's Button Down 100% Cotton Long Sleeve Work Shirts, Sizes: Small – X-Large	200	0.20	40.00
29	Men's Button Down 100% Cotton Long Sleeve Work Shirts, Sizes: 2X-Large – 3X-Large	200	0.20	40.00

30	Men's Button Down 100% Cotton Long Sleeve Work Shirts, Sizes: 4X-Large – 6X-Large	200	0.20	40.00
31	Men's Comfort Work Shirt Short Sleeves, Sizes: Small – X-Large	400	0.14	56.00
32	Men's Comfort Work Shirt Short Sleeves, Sizes: 2X-Large – 3X-Large	600	0.14	84.00
33	Men's Comfort Work Shirt Short Sleeves: Sizes: 4X-Large – 6X-Large	400	0.14	56.00
34	Men's Comfort Work Shirt Long Sleeves; Flame Resistant, Sizes: Small – X-Large	400	0.40	160.00
35	Men's Comfort Work Shirt Long Sleeves; Flame Resistant; Sizes: 2X-Large – 3X-Large	600	0.40	240.00
36	Men's Comfort Work Shirt Long Sleeves: Flame Resistant: Sizes: 4X-Large – 6X-Large	400	0.40	160.00
37	Men's Executive Oxford Long Sleeve Shirts, Sizes: Small – X-Large	200	0.16	32.00
38	Men's Executive Oxford Long Sleeve Shirts, Sizes: 2X-Large – 3X-Large	200	0.16	32.00
39	Men's Executive Oxford Long Sleeve Shirts, Sizes: 4X-Large – 6X-Large	200	0.16	32.00
1				

40	Men's Executive Oxford Short Sleeve Shirts, Sizes: Small – X-Large,	200	0.16	32.00
41	Men's Executive Oxford Short Sleeve Shirts, Sizes: 2X-Large – 3X-Large	200	0.16	32.00
42	Men's Executive Oxford Short Sleeve Shirts, Sizes: 4X-Large – 6X-Large	200	0.16	32.00
43	Men's Comfort Work Pants (No Pleats), Waist Sizes: 28 - 42,	1,800	0.18	324.00
44	Men's Comfort Work Pants (No Pleats), Waist Sizes: 44 - 54,	3,000	0.18	540.00
45	Men's Comfort Work Pants (No Pleats), Waist Sizes: 56 - 60,	2,000	0.18	360.00
46	Men's Cargo Relaxed Fit Pants, Waist Sizes: 28 - 42,	400	0.22	88.00
47	Men's Cargo Relaxed Fit Pants, Waist Sizes: 44 - 54,	600	0.22	132.00
48	Men's Cargo Relaxed Fit Pants, Waist Sizes: 56 - 60,	400	0.22	88.00
49	Men's Comfort Work Pants; Flame Resistant; Waist Sizes: 28 - 42,	200	0.41	82.00

Ē		-	•	1
50	Men's Comfort Work Pants; Flame Resistant; Waist Sizes: 44 - 54,	200	0.41	82.00
51	Men's Comfort Work Pants; Flame Resistant; Waist Sizes: 56 - 60,	200	0.41	82.00
52	Non-Insulated 100% Cotton Coveralls, Sizes: Small – X-Large,	200	0.39	78.00
53	Non-Insulated 100% Cotton Coveralls, Sizes: 2X-Large – 3X-Large,	200	0.39	78.00
54	Non-Insulated 100% Cotton Coveralls, Sizes: 4X-Large – 6X-Large,	200	0.39	78.00
55	Ladies' Image Knit Polo Short Sleeves, Sizes: Small –X-Large	60	0.22	13.20
56	Ladies' Image Knit Polo Short Sleeves, Sizes: 2X-Large – 3X-Large	80	0.22	17.60
57	Ladies' Image Knit Polo Short Sleeves, Sizes: 4X-Large – 6X-Large	60	0.22	13.20
58	Ladies' Cargo Pants, Cathy Fit, Sizes: 0 - 12,	60	0.22	13.20
59	Ladies' Cargo Pants, Cathy Fit, Sizes: 14 - 24	80	0.22	17.60
	İ	Ī	ĺ	

60	Ladies' Cargo Pants, Cathy Fit, Sizes: 26 - 36	60	0.22	13.20
61	Ladies' Comfort Work Pants, Cathy Fit, Sizes: 0 - 12	60	0.18	10.80
62	Ladies' Comfort Work Pants, Cathy Fit, Sizes: 14 - 24,	80	0.18	14.40
63	Ladies' Comfort Work Pants, Cathy Fit, Sizes: 26 - 36,	60	0.18	10.80
64	High Visibility Safety Short Sleeve Button Down Shirt - Pocketed Reflective Shirt, Sizes: Small – X-Large,	900	0.58	522.00
65	High Visibility Safety Short Sleeve Shirt - Pocketed Reflective Shirt, Sizes: 2X-Large – 3X-Large	1,500	0.58	870.00
66	High Visibility Safety Short Sleeve Shirt - Pocketed Reflective Shirt, Sizes: 4X-Large – 6X-Large	1,000	0.58	580.00
67	High Visibility Safety Long Sleeve Shirt - Pocketed Reflective Shirt, Sizes: Small – X-Large	900	0.58	522.00
68	High Visibility Safety Long Sleeve Shirt - Pocketed Reflective Shirt, Sizes: 2X-Large – 3X-Large	1,500	0.58	870.00
69	High Visibility Safety Long Sleeve Shirt - Pocketed Reflective Shirt, Sizes: 4X-Large – 6X-Large	1,000	0.58	580.00

Ancillary Items - ITB No. 16-100767 Aramark Uniform and Career Apparel, LLC

		Unit	Price
ITEM			
NO.	ITEM DESCRIPTION		
70	Cost for Specialty Items above 6X-Large	Each	No charge
71	Cost of Embroidery	Each	\$3.50
72	Cost of Sewing on Emblems/ Patches Name Emblem	Each	0.50
	Embroidered County Emblem	Each	2.00
	Screenprint County Emblem	Each	1.50
73	Cost of Screen Print		
	One Color Full Color	Each Each	1.25 2.00
74	Set up Costs for New Employees, including Bar Code Preparation	Each	1.00
75	Rental of Lockers		
	Soil Lockers Standard 8 Bank Big 8 Bank	Each Each Each	1.00 week 1.00 week 1.50 week

Number of Solicitations Sent: 13

Number of Bids Received: 1

Recommend Lowest, Responsive, Responsible Bidder: Aramark Uniform & Career Apparel, LLC

115 North First Street

Burbank, CA 91502